12.2 AP STATS linear transformations ws Name:

Check work with a partner and turn in at the end of class after review.
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drops a ball ; .
tohit the from <m_.._o=m heights (feet) and records the time (seconds), x, that it take for
ground, using a motion detector, He obtains the data displayed in the table here.
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b. Give the Exponential and power model for the data. Provide and interpret the 72 value as well.
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d. What transformation will you use to straighten the data?
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e. Write the transformed linear regression model and identify the
variables. Graph it here.

\@/ - 1 5%1 +1.%128(n X)

%= . 999994

rder to take 4.2 seconds to hit the ground. Show work.
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